EARAROBREBRT —5 XN—ZXBISH—F

202348388 (+) 1EHEE3H

O C1—-5# C1 USHR4EL ‘(fﬁ} B ‘I%EH?’JFE‘?] - | & 1000 T8
[AXE%]) 1%&:370,00 9 ~ 2%&:118,000H  3#&:67,00MH / 4%&:44,000H  53&:30,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o we i) : -1-1- - AEFHEX (K8
1155 |/¥72a—nURY 4% 5 i}%.o 1.(3_1).2 1-1-1-1 | 39.8 1 (4_427) a ’?J/b—i‘/d‘
RS /LI VR Ry Id—=NTa—LA [=lEe]
2079 | SAV7ILTT 4 4 SUgE(lf’l 1:(362).3 2-2-2-2 | 40.7| — 6 4:;)3 gg;tg ()
RiF4—=FITUSYF B:vYh4T1—)b BEXHERS
W= — HAKIBA : -3-3- - HEIFE (8
3 ) | PHYTHAF3 o4 | K (12312/28) 33340 ’ ?ff) FAET W
RIRITIATAwIDF+UT— BV v RUTIT7U— et
. I|S%HE : -5-5- - h)||ES (k8)
4 3 EwFLw IR 5 o 1(;@)9 5-5-5-5 | 40.4 5 (4_73:; mﬁ;_ =
R:ZvF—7A) B:OAVHTY /=Y Tr—1L
S — . REZ : -6-6- - FEBF (8
slgli| 29—2775w R 5 Rl 1.(313).1 6-6-6-6 | 40.4 7 (4337) A 8
RiFAITAIv— BV /VYTATF pRLe]
MES s 4 | WTBE 1:33.1 4-4-4-4 | 41.1| — 2 | 444 | BEABYT (EE)
61810 Z7TS7IL I 54.0 N ) | ==
RINMVTSY BiYvAZVITTAR fEHE &
4 5 | RHEEC 1:33.1 7-7-7-7 | 40.2| — 10 526 | KEEEK (EH)
7178|799 56.0 F5R) *3) (B J P NI
RNV vH—L B:TFYTIT *3LHEMWS
3 3y 4 5 | BGlllERF 1:33.4 9-9-9-8 |39.1| -— 4 468 | OENE (EH)
Y : PAR:B22 5.0 1172 © |BEB
Rib—trya—sy B:IVEILIa—hH— L &
S B 10 | AEK 1:34.1 8-8-8-9 |40.7| - 8 499 | HHEBAIE (f£2)
ol 6 | TYRRO 56.0 @ @3 |AEEXT
RAREFYU BNAEYRA—I =S
: MPEA . -10-10- - FEBF (8
10 7| NFNFTR it 4 54_01_ 1.(3143.3 10-10-10-10| 39.7 9 (5+227) iy
RiTA Lh—L 8:/770-U— Al #h
N Sryohs t 7 | AT 1:34.8 11-11-11-11] 39.8 | — 11 | 462 |WTFEX (EH)
111111 ALY 3aIRITY * 56.6 (2 1/2) +1) %) 7FrIVF
RiAXAY3oR—5— B:IAYPILIY IREEBUS
@ 1—F—&RIEL
13—7— 5,9,2,10,3,11,8,6,4,7,1
20— — 5,9,2,10,3,11,8,6,4,7,1
33— — 5,9,2,10,3,11,8,6,4,7,1
40— — 5,9.2,10,3,11,8.4,6.,7.1
o ILRE
BB 5 210M JA R 5-9 640/ % 3E 5-7 880M] 3EE 2-5-9 1,820
B B 5 120/ 2-5 330 5 E 5-9 1,310 3EH 592 8,000
9 450 2-9 1,420M Ba 5-9 1,550
2 160M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




